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Q.1 In this question, three statements have been given followed by two conclusions numbered |
and Il. Assuming that all information in the statements are true, analyse the two
conclusions together and determine whether any of them logically and definitely follow(s)
from the information given in the statements.

Statement I: All watches are bracelets.
Statement Il: All bracelets are perfumes.
Statement IlI: All perfumes are bangles.

Conclusion I: All bracelets are bangles.
Conclusion II: Some perfumes are watches.

Ans X A. Neither I nor Il follows
< B.Only Il follows
«” C. Both | and Il follows
< D. Only | follows

Question ID : 75322914581

Q.2 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans X A 23
o B.35
& C.29
2< D. 41
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Q.3 In the given question, find the option which satisfies the same condition of placement of
dots as in the question figure.

Ans X A ImageB

«” B.Image A

< C.Image C

2 D.Image D

Question ID : 75322914588
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Q.4 Rashmi, Sunita, Mona and Sakshi are sitting around a square table. Rashmi is to the right of
Sunita. Mona is to the left of Sakshi. Which of the persons mentioned in the options is
sitting opposite to each other?

Ans X A.Mona - Rashmi
/< B. Rashmi - Sunita
&” C. Rashmi - Sakshi
#< D. Sunita - Sakshi

Question ID : 75322914579

Q.5 Find the missing term in the following series.
QJ, SH, UF, WD,

Ans X A ZA
« B.YB
% C.BY
X D.AZ

Question ID : 75322914571
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Q.6 Find the water image of the following figure.

Ans o A lmage C

25 B.Image A

/< C.Image B

#< D.Image D

Question ID : 75322914590
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Q.7 Find the number common to all three figures.

Ans X A6
X B.12
& C.5
X D.9

Question ID : 75322914584
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Q.8 Which of the following answer figure completes the question figure?

Ans X A.lmageB

< B.Ilmage C

«* C.Image D

< D.Image A

Question ID : 75322914587
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Q.9 A person is walking towards a clock tower in the morning. When he reaches the tower, he
finds that the shadow of the tower falls towards his left. In which direction is the person

facing?

Ans X A. South
«” B. North
/< C. East

< D. West

Question ID : 75322914586

Q.10 Find the missing number from the series.
0,1,9,36,100, __, 441

Ans X A 361
o B.225
2 C.289
X D.235

Question ID : 75322914583

Q.11 If a mirror is placed on the line XY, then which of the answer figures is the right image of the
given figure?
Ans X A ImageD

#< B.Image A
o# C.Image C
< D.Image B

Question ID : 75322914589

Q.12 Select the option that is related to the third term on the same basis as the second term is

related to the first term.
PAPER : SDSHU :: MOTHER : ?

Ans X A PQVHUK
«" B. PRWKHU
5 C. PUVQKH
25 D. PRQUKW

Question ID : 75322914574

Q.13 Arrange the given words in the sequence in which they occur in the dictionary.

1. Talent
2. Tales

3. Tall

4. Tangle
5. Tangent

Ans A 1,2,3,54
5 B.523,4,1
7 C.1,2,3,4,5
< D.1,3245

Question ID : 75322914572
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Ans

Q.14 200 people are sitting in a row. Asha is in the 20th place from the left and Anna is in the
31st position from the right. How many people are sitting between them?

o A 149
< B.150
5 C.151
< D.159

Question ID : 75322914577

Ans

Q.15 In a certain code if '859' means 'cab de tas', '684' means 'tor tas rot', and '471' means 'tor be
for', then what will be the code of 'rot'?

o A6
X B.4
Xc.s
X D7

Question ID : 75322914576

Ans

Q.16 Seven players Manoj, Nitin, Osama, Piyush, Qazi, Rahul and Sam are sitting on a bench.
Sam is to the immediate right of Pratik and immediate left of Nitin. Manoj is on the
immediate right of Osama. Manoj and Pratik have one player between them. Nitin and Qazi
have two players between them. Pratik and Rahul have two players between them.

Who is exactly in the middle?

< A.Sam
" B. Pratik
< C.Qazi
< D. Rahul

Question ID : 75322914578

Ans

Q.17 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

< A.RIA:QHZ
< B.SJC:RIB
& C.WFC:VGB
7< D.RAT:QZzS

Question ID : 75322914573

Ans

Q.18 Aman is facing a tree in his garden during sunset. He observes that the shadow of the tree

falls towards his right. In which direction is Aman facing?
& A. East

75 B. West
< C. South
«” D. North

Question ID : 75322914585
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Q.19 In the question, one statement is given, followed by two assumptions, | and Il. You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given assumptions, if any, is implicit.

Statement: To buy any A.C of company MNO, contact 'X'- the sole agent of AC's of company
MNO for Jaipur city.-An advertisement

Assumption I: People generally prefer to buy products from sole agents.
Assumption II: Company MNO has given monopoly agency rights to X to sell A.Cs in Jaipur
city.

Ans X A. Neither I nor Il is implicit
5 B. Only I is implicit
£ C.Both I and Il are implicit
«” D. Only Ilis implicit

Question ID : 75322914580

Q.20 Select the option that is related to the third term on the same basis as the second term is
related to the first term.
Milk : Cow :: ? : Sheep

Ans X A. Leather
/< B. Cotton
«” C. Wool
£ D. Rubber

Question ID : 75322914575

Section : General Awareness

Q.1 Which among the following is an indirect tax in India?
Ans X A.Income Tax

#< B. Wealth Tax
< C. Corporation Tax

¥ D. Service tax

Question ID : 75322914593

Q.2 Where is the Sun Temple attributed to King Narasimhadeva I situated in India?
Ans X A. Durgapur

/< B. Bharatpur
#< C. Ajmer
«” D. Konark

Question ID : 75322914591

Q.3 India and Sri Lanka are joined by a group of islets forming
Ans ¥ A. Adam’s Bridge

£ B. Bhupen Hazarika Bridge
#5 C. Sisseri River Bridge
#< D. Sharavathi Bridge

Question ID : 75322914598
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Q.4 Who is famously known as the Wizard of hockey in India?
Ans  «# A. Dhyan Chand

< B. Roop Singh
£ C. Balbir Singh Senior

#5 D. Kunwar Digvijay Singh

Question ID : 75322914604

Q.5 Which among the following is not a Capital Receipt with respect to fiscal policy of India?
Ans X A. Disinvestments

#< B. Borrowing
o C. License and Permits

/< D. Loans Recovery

Question ID : 75322914594

Q.6 Which citizen of the Republic of India was awarded the Nobel Peace Prize?
Ans X A.C.V.Raman

& B. Kailash Satyarthi
< C. Rabindranath Tagore
25 D. Amartya Sen

Question ID : 75322914605

Q.7 Which athlete won India’s first gold medal in Javelin Throw at Tokyo Olympics 2020?
Ans X A.M.C. Mary Kom

#< B. Deepika Kumari
#< C. Leander Paes

«” D. Neeraj Chopra

Question ID : 75322914609

Q.8 In which year was the Pitt’s India Act passed?
Ans X A.1901

25 B.1819
5 C.1857
o D.1784

Question ID : 75322914603

Q.9 Which of the following is an apparatus used for the detection of ultrasonic waves which is
produced in a medium?

Ans o A Kundt's tube
#< B. Tuning fork
/< C. Resonance tube

< D. Sonometer

Question ID : 75322914597
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Q.10 The of aray is the angle measured from the reflected ray to the normal surface.

Ans X A. angle of refraction

< B. angle of diffusion
< C. angle of incidence
& D. angle of reflection

Question ID : 75322914595

Q.11 Which is a major tributary of Bhagirathi river?
Ans X A. Bishenganga

#< B. Pindar
< C. Dhauliganga
«” D. Bhilangna

Question ID : 75322914600

Q.12 Which of the following disease is not caused by a mosquito bite?
Ans X A Dengue

#< B. Malaria
& C. Elephantiasis
«” D. Hepatitis

Question ID : 75322914596

Q.13 Who was the first female Muslim ruler of the Indian subcontinent?
Ans & A.Razia Sultana

#< B. Chand Bibi
#< C. Jahanara
& D. Zeb-un-Nissa

Question ID : 75322914602

Q.14 Which is the only active volcanic island in India?
Ans  # A. Barren Island

< B. Minicoy Island
#5 C. Laccadive Island
#< D. Amendivi Island

Question ID : 75322914599

Q.15 Which World Cup-winning U19 India captain announced his retirement from cricket in India
in August 2021?

Ans " A. Unmukt Chand
#< B. Rishabh Pant
< C. Shubman Gill
< D. Virat Kohli

Question ID : 75322914610
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Q.16 Which of the following cities was part of the Indus Valley civilization?
Ans X A. Sanchi

/< B.Dwarka

«” C. Harappa
5 D. Muziris

Question ID : 75322914601

Q.17 Which among the following is not a type of Right to freedom in the Indian Constitution?
Ans  # A. Freedom of armed assembly

#< B. Freedom of expression
< C. Freedom of speech

/< D. Freedom of association

Question ID : 75322914607

Q.18 Who was the longest-serving Indian Prime Minister till 2021?
Ans o A. Jawaharlal Nehru

#< B. Manmohan Singh
< C. Narendra Modi
< D. Indira Gandhi

Question ID : 75322914606

Q.19 Who built the Pathar Ki Masjid in Patna, Bihar?
Ans X A. Aurangzeb

5 B. Alauddin Khilji
& C. Parvez Shah
& D. Feroz Shah Tughlaq

Question ID : 75322914592

Q.20 In which year was the Citizenship Act passed in India?
Ans X A.1959

«" B.1955
5 C.1951
< D. 1964

Question ID : 75322914608

Section : Arithmetic Ability

Q.1 Ram's income is successively increased by 30% and 20%. Find the effective percentage
change in his income.

Ans X A 50%
X B.66%
X C.46%
o D.56%

Question ID : 75322914617
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Q.2 What will come in the place of question mark(?) in the following question?
14(3/5) +17(5/6) +7(1/3) = 72/6 + 20

Ans o A 1186
< B.161
& C.171
< D.141

Question ID : 75322914615

Q.3 80 litres of water is mixed with a certain quantity of milk so that the mixture costs Rs. 40
per litres. If the cost of pure milk is Rs. 60 per litres, then the quantity of milk in the mixture
is:

Ans X A.120 litres

«” B. 160 litres
5 C. 100 litres

#< D. 180 litres

Question ID : 75322914620

Q.4 Three number are in the ratio of 3 : 4 : 9 and their L.C.M. is 1800. Find the greatest number.
Ans X A 150

& B. 450
< C.200
2 D.550

Question ID : 75322914614

Q.5 The pie-chart given shows the percentage distribution of the total number of visitors who
visited six different states in 2021.
If the number of visitors visited Rajasthan in 2020 is 4500 that is 25% more than the
number of visitors visited Punjab in 2021, what is the total number of visitors visited all six
states in 2021?
Ans X A.18000
< B. 16500
&" C. 15000

2< D.17200

Question ID : 75322914628

Q.6 The given below bar graph shows the production of different items (in hundreds) by a
manufacturing firm on 5 different days.
What is the ratio between the production of the items A on Wednesday to the production of
items C on Monday?
Ans X A 1514
& B.13:12
" C.14:15

X D.12:13

Question ID : 75322914629
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Q.7 The height, length and width of a cuboidal box are 18 cm, 12 cm and 16 cm, respectively.
Find its area.

Ans X A.696 sq.cm
5 B.1192 sq. cm
¥ C.1392sg.cm
#< D. 596 sq.cm

Question ID : 75322914626

Q.8 Ravindra and Nusrat together started a business with investments of Rs. 8400 and Rs. 6500
respectively. After 6 months, Ravindra and Nusrat increased their investments by 10% and
20% respectively. If at the end of a year, total profits in the business was Rs. 6388, then the
share of profit of Ravindra is:

Ans X A Rs.7056
< B.Rs. 2860
< C.Rs. 5720
o D.Rs. 3528

Question ID : 75322914619

Q.9 A man drive car first 160 km at the speed of 120 km/hr, next 70 km at the speed of 56
km/hr, next 240 km at the speed of 180 km/hr. Find his average speed during total journey.

Ans o A 120 km/hr
#< B. 60 km/hr
#% C.90 km/hr
2 D. 150 km/hr

Question ID : 75322914623

Q.10 Present ages of Sukhe and Diljit are in the ratio of 6 : 7 respectively. After two years, ages of
Diljit and Guru will be in the ratio of 11 : 8, respectively. Find the present age of Guruy, if the
present average age of Sukhe, Diljit and Guru is 36 years.

Ans X A 26 years
#< B. 28 years
o C.30years
< D. 33 years

Question ID : 75322914621

Q.11 The product of two numbers is 3645. If the H.C.F. of these numbers is 27, then the greater
number is:

Ans X A.125
% B.145
o C.135
X D.115

Question ID : 75322914612

Q.12 The H.C.F. of 0.42,0.14 and 0.35 is:
Ans X A.0.14

XB.14
& C.0.07

X D.07

Question ID : 75322914613
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Q.13 Arectangular box has dimensions 3.2 m x 2 m x 1.2 m. How many cubical boxes each of
side 40 cm can be fit inside the rectangular box?

Ans X A.160
& B.120

% C.60
< D.240

Question ID : 75322914627

Q.14 Pipe A filled at the rate of 20 litres per minutes and pipe B alone filled a tank in 10 hours. If
both pipes are opened together then tank is filled in 6 hours. Find the capacity of the tank.

Ans X A. 6000 litres
< B. 9000 litres
25 C. 7500 litres
«” D. 18000 litres

Question ID : 75322914625

Q.15 Simple Interest for the sum of Rs. 2460 for two years is Rs. 68 more than the Sl for Rs.
2290 for the same duration. Find the Rate of Interest.

Ans X A 25%
o B.20%
% C.18%
% D.15%

Question ID : 75322914622

Q.16 What approximate value will come in place of the question mark (?) in the following
question?
3599.98 + 8.92 + 74.98% of 799.92 = ?

Ans X A. 1400
X B.950
& C.1000
2 D.1250

Question ID : 75322914611

Q.17 There are three friends Mina, Sheena and Rita and their ages are (a + 4), (a— 4) and (a — 8)
years respectively. The average age of Mina and Sheena together is 24 years. What is the
present age of Rita?

Ans  # A 16 years
< B.12years
25 C.24years
25 D. 18 years

Question ID : 75322914616

Q.18 Suresh present age is 2/5th of his fathers present age. After some years, Suresh age will
become 75% of his father's age at that time. By what percent will fathers age increase
during this period?

Ans X A 150%
< B.120%
X C.125%
& D. 140%

Question ID : 75322914618
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Q.19 A man goes from A to B and then from B to A. From A to B, his speed was 8 km/h and from
B to A, his speed was 20 km/h. The total time taken by the man to cover the whole journey
is (63/8) hour then find the distance from A to B.

Ans X A 36 km
X B.90km
o C.45km
7 D.78.5km

Question ID : 75322914624

Q.20 The line graph given below shows number of boys and number of girls visiting a place from
January to May.
If in June, the number of boys and number of girls increased by 21.5% and 16(2/3)%
respectively as compared to that in April then find the total number of boys and girls
together visited the place in June.
Ans o A.593
25 B.569
5 C. 457

X D.573

Question ID : 75322914630

Section : General English

Q.1 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X A. simultenaous
/< B. simultanous
5 C. simulteneous

¥ D. simultaneous

Question ID : 75322914641

Q.2 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Neither of them have/ any idea how long the/ body has been entombed.
Ans o A. Neither of them have
#< B. body has been entombed.
#< C. any idea how long the
< D. No Error

Question ID : 75322914632

Q.3 Select the most appropriate meaning of the given idiom
A blessing in disguise
Ans X A. To share a secret that wasn't suppose to be shared
«” B. Something good that isn't recognized at first
#5< C. To act in a frenzied manner

#5 D. To politely ask for someone’s full attention

Question ID : 75322914643
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Q.4 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence.

Novelists have proved

P. impressionable, quick studies,
Q. recalibrating their aesthetic
R. objectives to reflect those of
S. the critical theorists

they emulate.

Ans X A SPQR
2< B.RQPS
< C.SRQP
«” D. PQRS

Question ID : 75322914637

Q.5 Fill in the blank with the most appropriate choice

Outside the court they both said they would consider mounting a case against the police for
prosecution.

Ans X A modest
o” B. malicious
#< C. mundane
< D. munificent

Question ID : 75322914636

Q.6 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

The Indian expedition/ to the Mount Everest is/ leaving next month.
Ans X A.No Error

#< B. The Indian expedition
& C. leaving next month.

«” D. to the Mount Everest is

Question ID : 75322914631

Q.7 Fillin the blank with the most appropriate choice

In his hand he produced a worn scroll depicting several pictograms and
passages.

Ans  «# A archaic
< B. ambiguous
/2% C.amenable
< D. ambivalent

Question ID : 75322914635

Q.8 Select the most appropriate idiom of the given meaning

To keep quiet, To say nothing
Ans X A Hit below the belt

#< B. Hush money
25 C. Hit the sack
«” D. Mum'’s the word

Question ID : 75322914644
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Q.9 Select the word that is similar in meaning (SYNONYM) to the word given below

debased
Ans  # A corrupted

< B.unamenable
< C.aggrandize
< D.amenable

Question ID : 75322914639

Q.10 The question below consist of a set of labelled (P, Q, R, S) sentences. Out of four options
given, select the most logical order of the sentences which form a paragraph.

The first ruler of the gods was Uranus, the personification of the sky.

P. He was married to Gaia, the goddess of the earth.

Q. After a prophecy that his children would overthrow him, the original ruler of the world hid
his children inside their mother (earth).

R. Gaia hated him for this.

S. Uranus had twelve children with Gaia.

The children of the sky and the earth were known in the ancient sources as the Titans.

Ans X A RQSP
2 B. PRSQ
« C.PSQR
7 D.RPSQ

Question ID : 75322914638

Q.11 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Grandma (asked us, "Where were all of you last night.")
Ans X A.No correction required
/< B. asked us that, "Where were all of you last night?"
o C. asked us, "Where were all of you last night?"

< D. told us, "Where were all of you last night."

Question ID : 75322914634

Q.12 Select the most appropriate ‘one word ' for the expressions given below

Impressive display or range of a particular type of thing
Ans X A Flotilla

#< B. Frivolous
#< C. Heretic

o D. Array

Question ID : 75322914645
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Q.13 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Incineration has been used for decades (as the magic-bullet solution to disposing
otherwise) persistent waste materials.

Ans X A. No correction required
#< B. as the magic-bullet solution of disposing otherwise
& C. as the magic-bullet solution to disposing of otherwise

#5 D. as the magic-bullet solution to disposing off otherwise

Question ID : 75322914633

Q.14 Select the word that is opposite in meaning (ANTONYM) to the word given below

voracious
Ans X A. prodigious

< B. avid
o C. satisfied
#< D.insatiable

Question ID : 75322914640

Q.15 Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly
spelt word.

Ans X A notoriety
< B. paucity
< C. partisan
# D. expatia

Question ID : 75322914642

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

A group of researchers has demonstrated that pleasure and positive states of mind are better
for our health. This new intellectual approach to health is not only more powerful, but also has
no side effects. Central to this claim are recent findings that even getting an education may
add as much as 10 years to your health. That is why National Geographic featured John de
Rosen in its book The Incredible Machine, which discussed old age. De Rosen, an artist,
continued to paint until the week he died at age 91. The book notes: "Some scientists believe
that retirement to a sedentary lifestyle initiates or aggravates medical problems, thus
shortening life. According to a study of retired people, adults over 65 can learn a creative skill,
like oil painting, as readily as younger students." So retiring from a job in a sense means
retiring from life unless supplemented by some other, preferably new activity.

SubQuestion No : 16
Q.16 What was John de Rosen profession?
Ans X A. Antique collector

2% B. Librarian
5 C. Painter
«" D. Artist

Question ID : 75322914647
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Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

A group of researchers has demonstrated that pleasure and positive states of mind are better
for our health. This new intellectual approach to health is not only more powerful, but also has
no side effects. Central to this claim are recent findings that even getting an education may
add as much as 10 years to your health. That is why National Geographic featured John de
Rosen in its book The Incredible Machine, which discussed old age. De Rosen, an artist,
continued to paint until the week he died at age 91. The book notes: "Some scientists believe
that retirement to a sedentary lifestyle initiates or aggravates medical problems, thus
shortening life. According to a study of retired people, adults over 65 can learn a creative skill,
like oil painting, as readily as younger students." So retiring from a job in a sense means
retiring from life unless supplemented by some other, preferably new activity.

SubQuestion No : 17
Q.17 lItis stated in the passage that retired people .
Ans X A canadd as much as 10 years to their life by getting education.

«# B. can learn creative skills just quick a young adult.
% C. essentially retire from their life.

2% D. are an incredible machine that can pick up any skills as quick as any young adult.

Question ID : 75322914648

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

A group of researchers has demonstrated that pleasure and positive states of mind are better
for our health. This new intellectual approach to health is not only more powerful, but also has
no side effects. Central to this claim are recent findings that even getting an education may
add as much as 10 years to your health. That is why National Geographic featured John de
Rosen in its book The Incredible Machine, which discussed old age. De Rosen, an artist,
continued to paint until the week he died at age 91. The book notes: "Some scientists believe
that retirement to a sedentary lifestyle initiates or aggravates medical problems, thus
shortening life. According to a study of retired people, adults over 65 can learn a creative skill,
like oil painting, as readily as younger students." So retiring from a job in a sense means
retiring from life unless supplemented by some other, preferably new activity.

SubQuestion No : 18

Q.18 According to the passage, which of the following option is incorrect? Choose one option.

Ans X A. According to the book Incredible Machine retiring from a job in a sense means
retiring from life unless supplemented by some other, preferably new activity.

25 B. According to recent findings getting an education may add as much as 10 years to
your health.

«” C. Positive state of mind is a powerful tool to improve health of an individual drastically
but also has some side effects:

#5 D. John De Rosen died at the age of 91.

Question ID : 75322914650
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Q.19
Ans

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

A group of researchers has demonstrated that pleasure and positive states of mind are better
for our health. This new intellectual approach to health is not only more powerful, but also has
no side effects. Central to this claim are recent findings that even getting an education may
add as much as 10 years to your health. That is why National Geographic featured John de
Rosen in its book The Incredible Machine, which discussed old age. De Rosen, an artist,
continued to paint until the week he died at age 91. The book notes: "Some scientists believe
that retirement to a sedentary lifestyle initiates or aggravates medical problems, thus
shortening life. According to a study of retired people, adults over 65 can learn a creative skill,
like oil painting, as readily as younger students." So retiring from a job in a sense means
retiring from life unless supplemented by some other, preferably new activity.

SubQuestion No : 19
What is considered as a "new intellectual approach to health"?
25 A. Engaging in Physical activities everyday.

«” B. Positive state of mind.
5 C. Mentally challenging activities.

25 D. Health benefits of a clean diet.

Question ID : 75322914651

Q.20

Ans

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives

A group of researchers has demonstrated that pleasure and positive states of mind are better
for our health. This new intellectual approach to health is not only more powerful, but also has
no side effects. Central to this claim are recent findings that even getting an education may
add as much as 10 years to your health. That is why National Geographic featured John de
Rosen in its book The Incredible Machine, which discussed old age. De Rosen, an artist,
continued to paint until the week he died at age 91. The book notes: "Some scientists believe
that retirement to a sedentary lifestyle initiates or aggravates medical problems, thus
shortening life. According to a study of retired people, adults over 65 can learn a creative skill,
like oil painting, as readily as younger students." So retiring from a job in a sense means
retiring from life unless supplemented by some other, preferably new activity.

SubQuestion No : 20

What/who was the primary subject of the National Geographic premiered book "The
Incredible Machine"?

#5 A. Education
«” B. Old Age
25 C. John de Rosen

25 D. Positive effects of a healthy state of mind.

Question ID : 75322914649

Section : General Hindi

Q.1

Ans

fafafad v 8, aR el J |, 39 e o1 9g+1 2 St Ry 710 g & g g & dg o
a9 a1 fAheT 81

PUAT YEIhTTT ST T AT Fd15Q)
25X A, grreET

5 B. Toharef
25 C. ddgrSt
o D. faemf

Question ID : 75322914660
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Q.2

Ans

f=fafEa usn d, oR et & 9, 39 e &1 999 & St Ry 79 Ftenifh o1 9 aref aren
farerea 21
R S T ST

< A 37T BT Bl T§T

7< B. ggo1 ez s

o C. o7 U & e et
< D. g g g

Question ID : 75322914664

Q.3

Ans

fr=fefaa usr &, aR faereal 7 9, 39 e =1 a9 &R St Ry 71Q a1 & et &1 98l faerea
gl
U g @ @ @I 8l

< A, iy ydepret
25 B. §f&ry aAm @ret
& C. 31Ul adAT hred
X D. T sfgeprer

Question ID : 75322914659

Q.4

Ans

fAafefad vy 8, ar el d |, 39 e o1 90+ &3 oit g J Ry 1Y 21eg & sIgarR
3y & e hr1 9l faehed gt
o= (& A1) aar g BT g1

X A frorafeatee srem
X B. fora faiwor sremg

o C. Tauaiy sy

25 D. Gt ey

Question ID : 75322914655

Q.5

Ans

FrfafRe usr 9, ar Rt d 9, 39 Rerea o1 aa71 R 7t 305 2Tz o1 98t e &1
o A anfie

X B. amfie
X C.anfls
5 D. sifes

Question ID : 75322914657

Ans

Frafafae vy &, ar Rt d @, 39 Rievea a1 ag= o it & 1 gerar o1 ag o aren e
gl
Qe SifE @ @1

25 A, I ST

o B. 9T T AT
< C. 98 I R A o T
< D. fomterdt &

Question ID : 75322914666
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Q.7 fA=fafaa uw A, ar el J Q, 39 9 fAea o1 997 &R it Ry 717 oreg & T eref a1 sfa
farerea gh
el

Ans o A arfeet
& B.ART
X C.ga
X D.ga

Question ID : 75322914656

Q.8 A Rrepeul # @ IW e o1 9o KA it 5 arera @1 9 fwea 8
Ans X A TR I Ig <l T81 onTal foh Snfgwar die STg

7< B. T3} g ST Ag] hTaT I SR Ser Sy

X C. Aahl g 3rest Tl @vdn foh ST st S|

o D. T3 g 3731 g1 e foh anifgar aer sy

Question ID : 75322914662

Q.9 fA=faf@d un A, aR fAereul & |, 39 fAereq o1 Ta= &3 St TS arer We o1 faehrea gl
3G A9 @ yHIioT gtar & ok ag srarreft &1

Ans X A Ruramas aem
o B. s ar

25 C. IR ar|’

X D. ¥ ar

Question ID : 75322914661

Q.10 fA=fafad us &, R fereal & @, 39 faeheq o1 === 3 St WTaar=ies 9T <1 Tgt fehe Tgl 81
Ans X A TRerar

X B. fe™
o C. ITelIsh

X D. g

Question ID : 75322914654

Q.11 f=faf@e ust 4, 9R el # 9, 39 9@ foerea o1 g7 1 Sit Ry 717 2reg-g79 & Tt oref ot
IRa g gt
TETd-aR

Ans X A Sara-gm
X B. gurf-aw
o C. qm-as
72X D. ueeR-thera

Question ID : 75322914658

Q.12 fAfafaa usr &, IR el | 9, 39 faehea &1 og+ = Wt form Rig g+ arera @1 a8t fRAerea
gl
Ans X A a3 et e guf o & a1 g Taterom 3+t aré) oft aw 33 gt o fRe ameft & <

o B. I 7 g, "foren qof e & a1e grn TRafaron &Y Al of, aa A et o, R et & ofm)”
75 C. I = ohgl- e guf s & are, g Teaferon &t =gl of, aa & ahet o, fhe &t o ol
7< D. 9 3 g e guf et o a1e gAn Teaferon AT arel off| e A7 gt ot et o g

Question ID : 75322914663

@ Teachingninja.in




Q.13 f=faf@d uy d, IR Rereul § 9, 39 fRaeu &1 9g7 &3 5t €1 7 gerar o1 agh orf aren e
E;frrirnatﬂm
Ans o A UTEH & UG B AT
725 B. 9@ AT
X C.9gd st g
< D.axr d &zm

Question ID : 75322914665

Q.14 fFr=afafEd ua & TR fRereal & @, 39 fAerea &1 =T R Sit 20T 20 T Je) ferea gl
Ans X A T

7< B. Be@ar

X C. thgen

o D. g3

Question ID : 75322914652

Q.15 fAafafaa usr 8, R el | 9, 39 faehea &1 wa+ & 5l Fise J g 77 21 & gar
fasivor & A< arer R gl

g g (FNT) H1 HAT &1
Ans X A TuraTdes fastor
«” B. S=marass fastwor

25 C. gReTuTaTas fagiyor
25 D. Trd=Ttae faRor

Question ID : 75322914653

Comprehension:

12 feg M eyt ht eagEeR U ofR IR faehed! H @ Uies U ol HaH SR A |

T T HE<d TR ITH! YaxdT 39k THY TR HUTied fhQ STH TR 81 81 Sicia gorsan 3 famam gam e o
IfE STaLachdr o gd 7 T 81 Toh df ITehT fohdT STHT st g1 g1 | RIfgat grT @a g forg s R afg
TATAT I TREAT h AT T T T JUGIT T UTH &l T1TT| I8 X & fohg 7T Ie ol FlS ged
ET BT 21 T 7RG ot & ST I9ehT e o) ahl irer ek | 5&ft sor afe, st gRT sRaman T St
PN I T ol Thel-Toell i GG o1 X FehdT ol SeehT aeaT e §f 1 STaER &l IguanT = e
qTet f<h h! S HROT TYTATT hT TSl 2|
SubQuestion No : 16

Q.16 3iJ<de & AR Sfia= & THI I Ag~ Hil §?

Ans X A. &N Ty f uRaTg T8l

«” B. 70 W {31 a1 T ARt gl &
X C. g7 W forar maT SR o el BT &
< D. 990 &1 Sfia= H Agwd & §

Question ID : 75322914668
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Comprehension:

2 feg M eyt ht eaTgEeR U ofR IR faehedt # @ vdes Ut ol FaH SR A

T T HEwd IR ITH! YaxdT I9h THY TR HUTIed fohg ST WR &1 &1 Sicdia gorsan & famam gom e ot
IS SaTendT & Yd = QX1 51 Teh AT SHehT fehdT ST (St &1 g | Rifsal grr @« g forg = wR afs
T IHeh! YREIT & SHeeAT R A T UG & UTH g1 ST | I&eh &R F R 7TQ Ier a1 hls e
TET BIT I 21 T 7RG it & ST IGehT e o) ot et ek | 53ft sroT af, st gRT sRaman T St
P Tl Tl ol thel-Goel H GG o1 X FehdT df SHehT a1 el §f &1 STaER &l IguanT =
qret f<h ! S HROT TYTATT hAT TSl 2
SubQuestion No : 17
Q.17 a1ed a1 a1 =g @ ST =l het T 8?
Ans X A T9Q-aTeIE 9R ST
< B. Rzt ot urt faer sy
o C. Y &l 19 7 Uga

X D. TRHY 21id Bl ST

Question ID : 75322914670

Comprehension:

3 feg T erter bt ermgdes U ofR IR faehed! | & Uk WSt ot aatd SR g |

i BT Hg=a SR ITHT YT ITh T R YUTR Ry ST IR &) 81 Sl garee § foram gomm anrdf oft
I Sraachar & gd 7 U1 &) Toh df ! forar ST ket g gl Rifgat g @a g forg o w afy
TEEATEAT ITh! YRETT i ST . dt Ta IS Gl U & T I &< Y Ty 710 Igrd a1 hls g
BT g1 $19 T TR q+ft & STa ITehT a1 fohadY ot fet Toh | 5t spRoT afe, aTeet! gRT sRYTT T/ Sied
Feh chl Thilel ohl thel--Theld | GG el Y AehdT df ITehT SRET 2 Bt § | STTER T TGUATT 7 ehed
qrel ef<h el &t SIRUT UTATY eheT UsdT g1
SubQuestion No : 18

Q.18 W kT TIATAT SUGTH kT UTS il FdT &7

Ans X A TT STUAT R GERI Rl T 3T &
X B.@a  urft 78 &ar
< C. fafsai & o & SaR AT &
o D. T W Wd FI T@aTel! g1 el

Question ID : 75322914669

Comprehension:

12 Ry M merier ot eaTgden U iR TR fahedt # ¥ TR TS T HaH SR A |

T T Hea SR ITHT YT SHeh T TR HUTIed fRY ST WR &1 81 STl gasdT 9 fonam gamm s oft
I STTaaehdT & Y& 7 G &1 ekl ST fehal ST okt 8t g1 Rifsal grr @ g fog 9 R afe
TGEATCAT IHeh! Y&V i AT TR Al T IUGT T UTH 61 ST | Ik &R & R 7TQ Iz &t hls qea
TET BT 21 T 7RG it & ST IGehT a1 o) ot fireT ok | it swwor afe, st gRT sRaman T St
PN I Tl ol Thel-oel H GG 51 X FehdT df SHehT a1 e §f &1 STaER &l IguanT = e
qTet ef<h h! S HROT TYTATT hT TSl 2
SubQuestion No : 19

Q.19 59 31D 1 g Iugwh 2fiefen-

Ans X A fRfsai @ @a @

«” B. TF &1 GgUAT
25 C. forem a1 udrar

25 D. STl el SREAT

Question ID : 75322914672
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Comprehension:

2 feg M eyt vt eaTgEeR U ofR TR faehedt H @ Ues Ut ol HaH SR A

T T HEwd IR ITH! YaxdT I9h THY TR HUTIed fohg ST WR &1 &1 Sicia gorsan & famam gom & ot
IS SaTendT & Yd = QX1 51 Teh AT SHehT fehdT ST (St &1 g1 Rfsat grr @« g forg = R afs
AT IHeh! YR&TT chi AT & ol G IUGTH oI UTH &1 I | I8 &R & Y g Iei ol i e
TET BIT I 211 T 7RG it & 5Ta IGehT o o) aht et ek | it swwor af, st gRT sRaman T St
P Tl Tl ol Thel-Goell H GG 51 X FehdT df SHehT a1 el 1 81 STaER &l IguanT =
qTet f<h bl S HROT TYTATT hAT TSl 2
SubQuestion No : 20

Q.20 39 @ RIF-TT AR T FAFTAT 215 TE 82

Ans X A HaT
o B. SFAWR
X c.fafy

25 D. GHqreT

Question ID : 75322914671

Section : Discipline1

Q.1 According to Vygotsky, and____ are initially separate(runs parallel) from the origin of
life, becoming interdependent at the age of 3.

Ans X A. Family and environment.
¥ B. Thoughts and language.
< C. Language and genes.
< D. Heredity and thought.

Question ID : 75322914691

Q.2 At what stage the child starts developing the attitude that his opinion conflicts with the
family, friends are family, sibling rivalry, various mood swings start developing.

Ans X A. Early adulthood (13yrs-15yrs)
< B. School age(6yrs-12yrs)
o C. Adolescence(13yrs-19yrs)
5 D. Pre-school(3yrs-6yrs)

Question ID : 75322914678

Q.3 Psychosexual analysis theory was presented by___
Ans  # A Sigmund Freud

/< B. Jean Piaget
< C. Albert Bandura
#< D. Eric Erikson

Question ID : 75322914680

Q.4 After 9 months when the baby is thrust into the environment from the mother's womb the
stage is known as-

Ans X A. Formal-operational period.
«” B.infancy
#5 C. Concrete operational period.

#5 D. Pre-natal period.

Question ID : 75322914673
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Q.5 Abhinav tends to act aggressive when it comes to cooperating with his peer group in games
and other activities, this goes against the norms of the school. So Abhinav needs help in

Ans o A. Affective domain
< B. Cognitive domain
< C. Higher order thinking skills

< D. Psychomotor domain

Question ID : 75322914684

Q.6 A group is formed in a class where children from different levels and different abilities were
encouraged to work together for group assignment, the type of group is known as____

Ans X A. Cooperative learning
«” B. Heterogenous
#5 C. Higher order thinking management.

#< D. Homogenous

Question ID : 75322914690

Q.7 Pavlov developed a theory which dictated, the bell used to rung just before the food was
presented to the dog, the ringing becomes the conditioning stimulus since the dog salivated

to the sound of the bell.
Ans X A. Observational learning

/< B. Operant conditioning
«” C. Classical conditioning

#5 D. Motivational conditioning

Question ID : 75322914677

Q.8 The understanding typically develops during early infancy that an object still exists even
when it disappears from the sight or other senses is known as-

Ans o A. Object permanence
< B. Intuition
5 C. Attachment
#< D. Inhibition

Question ID : 75322914674

Q.9 What is the cognitive verb is used to understand the given information?

Ans & A. Comprehend
< B. Criticize
#5 C. Describe
#< D. Apply

Question ID : 75322914685

Q.10 Heinz' dilemma which discusses the idea of obeying the law vs saving a life was given by-
Ans 4 A Kohlberg

< B. Sigmund Freud

< C. John Bowlby

< D. Noam Chomsky

Question ID : 75322914679
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Q.11 occurs when a behavior is punished .i.e. the inclination to do something maybe there
but it is overlaid by the anticipation of punishment.

Ans X A. Assistance
& B. Inhibition
#5 C. Facilitation

#< D. Assimilation

Question ID : 75322914676

Q.12 The psychomotor domain is characterized by progressive levels of behaviour from
observation to mastery of physical skill. Simpson built this taxonomy on the work of Bloom
and others.Choose the wrong option.

Ans o A. Attention
< B. Perception
£ C. Guided response

#< D. Complex overt response

Question ID : 75322914686

Q.13 The notion of social learning stands in contrast to more popular Piaget's idea of
cognitive development.

Ans X A Freudian
«” B. Vygotskian
#< C. Eriksons
& D. Kohlberg's

Question ID : 75322914687

Q.14 At what stage do senses work as the teacher for a child to perceive their knowledge about
surroundings.

Ans X A. Concrete operational
¥ B. Sensorimotor
< C. Formal operational

#< D. Preoperational

Question ID : 75322914692

Q.15 Bloom's Taxonomy includes the manner in which we deal with things emotionally, such as
feelings, values, appreciation, enthusiasm, and motivation is-

Ans X A. Cephalocaudal
< B. Conative domain
«” C. Affective domain
#5< D. Cognitive domain

Question ID : 75322914683

Q.16 Inrevised bloom's taxonomy 2001, to present and defend opinions for making judgments
about information, validating of ideas or quality of work based on a set of criteria, and
looking at the problems in a critical way comes under the category of___

Ans X A. Remembering
#< B. Creating
«” C. Evaluating

#< D. Applying

Question ID : 75322914682
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Q.17 3 aspects of Bloom's taxonomy does not include__
Ans X A. Affective aspect

/< B. Cognitive aspect
«” C. Proximodistal aspect

#5 D. Psychomotor aspect

Question ID : 75322914681

Q.18 What are the primary agents that influence the social development of a child?
Ans & A Family and neighbours

#< B. Family and media
< C. Neighbours and peers
/5 D. Peers and media

Question ID : 75322914675

Q.19 According to the range of abilities the individual can perform with the guidance of an
expert, but cannot yet perform on their own is known as

Ans X A. Gross motor skill
2% B. Proximodistal development
«” C. Zone of proximal development

#< D. Cephalocaudal

Question ID : 75322914688

Q.20 When hints, cues, or any sort of temporary help provided by the more knowledgeable others
in children is called____

Ans X A.Inhibition
& B. Scaffolding
#5 C. Cephalocaudal

< D. Zone of proximal development

Question ID : 75322914689

Section : Discipline2

Q.1 Renzulli 3 ring model of giftedness does not include,
Ans o A credibility.

< B. above average ability.
#5 C. creativity (divergent thinking).

#< D. task commitment.

Question ID : 75322914705

Q.2 On 29th June 1966, the D.S.Kothari Report was handed to the education minister who was

Ans X A.B.R. Ambedkar
< B. J. P.Naik
#< C. Kapil Sibbal
" D. M. C. Chagla

Question ID : 75322914697
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Q.3 '"Like the sound of sonata,like Mozart,Einstein and Whitman you too will be gone
someday,But like the abstract structure of musical composition the space time coordinates
is

Ans X A. The untouchables.
/< B. Experiment with truth.
2% C. The discovery of India.
«” D. Atom and self.

Question ID : 75322914696

Q.4 The teacher based curriculum least focus upon__

Ans  «# A learners where teachers put all their focus on,children talk and the teacher
exclusively listen.

£ B. memorization is mostly encouraged.
#< C. no place for personal interest.

2 D. how essential knowledge is developed in various subject areas.

Question ID : 75322914707

Q.5 Montessori Education does not include,
Ans X A. enjoyment of freedom within limits

#< B. self correction and self assessment
«” C. came into existence in 19th century

#< D. supports to become active seekers of knowledge

Question ID : 75322914708

Q.6 The integrated education of 1995 did not thrive for long.Choose the correct option which is
not part of the integrated education.

Ans X A.promoted setting up of schools government or private for those in need where
special children can have access.

«” B. catering to diverse students learning side by side in same classroom.
#< C. for additional support, the child was placed in the resource room.

#< D. admission of special children in a regular school without modifying the existing
system.

Question ID : 75322914704

Q.7 Which factor in the socio-cultural background of a child is less effective in second learning
Language?

Ans X A.school environment.
#5 B. The financial background of the family.
#5 C. If parents have a good educational background.

& D. Coercion to pursue.

Question ID : 75322914693

Q.8 Identify the wrong match.
Ans o A. Emotional intelligence- Felder and Silverman.

/< B. Multiple intelligence- Howard gardener.
#5 C. Social constructivism- Vygotsky.

#< D. Cognitive development stages- Piaget.

Question ID : 75322914712
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Q.9 Which of the following gave the concept of 10+2+3?
Ans X A.Bhore committee

< B. Hunter commission
#£< C.N.C.F 2000

o D. Kothari commission

Question ID : 75322914698

Q.10 Wood's commission does not include
Ans o A to pursue a University education passing out of intermediate became mandatory.

/< B. to educate the natives of India so that a class of public servants could be created.
2% C. much emphasis was given to primary, middle, and high schools.

/< D. to impart western knowledge, information about the western culture to Indians.

Question ID : 75322914699

Q.11 What is the method in which the help needs to be given in close proximity in time to when it
is needed?

Ans o A scaffolding
< B. zone of proximal development

< C. motivation

#< D. learning

Question ID : 75322914694

Q.12 Which curriculum consists of learning experiences, both negative and positive, that are not
part of the explicit curriculum, but that result in changes in the attitudes, beliefs, and values

of students?
Ans & A.Hidden curriculum

25 B. Null curriculum
< C. Supported curriculum

< D. Activity based curriculum

Question ID : 75322914710

Q.13 The PWD Act 1995 and RTE Act 2009 jointly made the provision to give free education to
special children till and to normal children till

Ans X A. 14yearsand 11 years.

/< B.12years and 16 years.
5 C. 18 years and 16 years.
" D. 18 years and 14 years.

Question ID : 75322914706

Q.14 The concept of Inclusive Education excludes
Ans o A. segregation of children on the basis of their background.

/< B. The sun has no restriction on giving its heat and light, the wind never says no to
anybody on this earth.

< C. segregation is against law of nature.

75 D. celebrate unity in diversity.

Question ID : 75322914703
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Q.15 The concept of kindergarten basing that children should be taken care of and nourished in
"children's garden" like plants in the garden was given by___

Ans X A. Piaget

«” B. Froebel

< C. Rousseau
#< D. Eric Erikson

Question ID : 75322914711

Q.16 The recommendations given by Kothari commission to revamp the education system in
India did not include ___.

Ans " A. Promoting Sanskrit as regional language .
#< B. University autonomy
2 C. Three language formula

< D. Educational structures and standards.

Question ID : 75322914700

Q.17 Which of the following curriculum emphasizes on the maximum autonomy to learners?
Ans X A. Experience centered approach.

#< B. Subject based curriculum.
¥ C. Activity centered approach.

< D. Teacher centered approach.

Question ID : 75322914709

Q.18 The major step towards the spread of tribal education in India was the enactment of
recommendation from the NPE 1986 is

Ans X A.The urbanization of areas where SC, ST are located in the majority.
/< B. focused on integrated learning without making any changes.
«” C. priorities will be accorded to the opening of primary schools in tribal areas.

#5 D. asking the SC, ST to leave their homes and settle in the city so their child could go to
school.

Question ID : 75322914702

Q.19 Education in India on ___has thus largely been focused on the collection of data, and the
creation of gender units and coordinators both of which are strategies to promote greater
visibility to the issue of gender equality.

Ans X A.Patriarchy
«” B. Gender mainstreaming
< C. Gender inequality
< D. Gender hierarchy

Question ID : 75322914701

Q.20 Who recommended removing the secondary level of education from the university in order
to improve the standards of University Education?

Ans & A Saddler commission
/< B. D.S.Kothari commission
< C. Hunter commission

£< D. Mudaliar Commission

Question ID : 75322914695

@ Teachingninja.in




Section : Discipline3

Q.1 Therole of ICT as a support and learning school management does not include
Ans X A.the learner-centric curriculum approach.

< B. enhancing the teaching learning experience.
< C. fulfilling the gaps between teaching and learning use of ICT is necessary.

& D. the traditional approach through the medium of ICT.

Question ID : 75322914713

Q.2 Where ICT can be less useful and has its own drawback when it comes to communication -
Ans X A.enhance multisensory teaching.

< B. useful for differently abled children and individuals.
#< C. can access numerous books digitally.

&” D. reducing communication gap between child and parent.

Question ID : 75322914714

Q.3 Objectives of maths does not include-

Ans o A developing higher-order thinking skills by developing the tendency of competition
among children.

/< B. making maths a part of children's life experience.

#< C. children understanding the basic order of mathematics- i.e. arithmetic, algebra,
geometry, and trigonometry.

#5 D. to develop logical thinking among the children.

Question ID : 75322914730

Q.4 Morpheme is-
Ans o A ashort segment of language

< B. study of sound patterns and their meanings both with and across language.
#5 C. the smallest unit of words- a,b,c,d.

#5 D. when all the words in a sentence have a meaning.

Question ID : 75322914722

Q.5 Among language skills which of the following are known as reinforcement skills and should
be equally given importance?

Ans X A.Speaking and reading.
< B. Writing and speaking.
#< C. Speaking and writing.
«” D. Writing and reading.

Question ID : 75322914729

Q.6 The method can be useful when writing a learning objective or outcome is the A. B. C. D.
method (Heinich, et al., 1996). This method considers 4 things. Which of the following is
not one of these 4 things?

Ans X A. Audience
«” B. Database
< C. Behaviour
#< D. Condition

Question ID : 75322914719
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Q.7 The study of rules that govern the ways in which words combine to form phrases, clauses,
and sentences is

Ans o A syntax
#5 B. phoneme
5 C.ellipses
#< D. morpheme

Question ID : 75322914723

Q.8 Listeningis an input.
Ans X A. expressive

< B. productive
«” C. aural

#< D. oral

Question ID : 75322914727

Q.9 As per the national policy on ICT which of the following in school will search, collate and
categorize digital resources and make them available to the teachers and students.

Ans o A library
#< B. science lab
< C. classroom

< D. AV.room

Question ID : 75322914717

Q.10 The most reliable technique to introduce reading to the primary childrenis ___
Ans X A. Stories

o” B. Picture books
#5< C. Phonetic sounds
< D. Alphabets only

Question ID : 75322914726

Q.11 The Narrow Aims in maths help generating-
Ans X A.understand abstractness.
#< B. think mathematically.

&” C. emphasizing on turning out employable adults contributing to socio-economic
development.

#5 D. Finding logical conclusion to benefits.

Question ID : 75322914731

Q.12 How has the intense use of ICT during pandemic-related lockdown affected the teaching
community?

Ans X A. It has made jobs of teaching community redundant.
#5 B. The teaching community has failed to adapt to the new methods as expected.

#5 C. It has allowed students to use more tools like videos and simulations to make study
fun.

& D. It has encouraged the teaching community to become more familiar with various
online tools to conduct classes, practicals, and appraisals.

Question ID : 75322914715
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Q.13 What is the most fundamental in learning the second language?
Ans X A reading stories

< B. analysing pictures
«” C. motivation

#5 D. cramming words and their meaning.

Question ID : 75322914725

Q.14 For language learning acquisition -poor environment is one where -
Ans X A.when L1 is given importance while learning L2.

/< B. the language is used in the classroom and outside class.
< C. access to language learning material is available.

«” D. a target language is not spoken at home.

Question ID : 75322914724

Q.15 Given are the function of educational objectives except-
Ans X A help to make learning functional.

¥ B. sometimes creates burden and chaos in the curriculum.
< C. give unity and coherence to an educational program.

< D. provide the desired direction to educational activities.

Question ID : 75322914720

Q.16 What is language acquisition?
Ans X A.lIt's a target language, need to learn vocab, and grammar in order to learn.

#< B. children need pen and paper to acquire it.
#< C.itis the result of direct instruction in the rule of language.

& D. it can be acquired through the subconscious process during which they are unaware
of grammatical rules.

Question ID : 75322914721

Q.17 Given options are the backdrop of ICT except one. Choose-
Ans X A.ICT is sometimes not accessible everywhere.

/< B. students are prone to pornography and online child abuse.
«” C. not very helpful to children with special needs as technology is not very developed.

#5 D. prone to data security and hacking.

Question ID : 75322914716

Q.18 At the primary level introducing children to family stories, related interests, and
experiences, making use of gestures is a sub-skill of ___.

Ans X A reading
«” B. speaking
5 C. listening
#< D. writing

Question ID : 75322914728
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Q.19 ____does not come in the category of ICT network.
Ans X A.LAN(Local area network)

25 B. WAN(Wide area network)
«” C. MAN(Manpower area network)
5 D. PAN(Personal area network)

Question ID : 75322914718

Q.20 ____ schematic drawing which shows the relationship between the concepts and can be
build either by the teacher or learner.

Ans  # A. Concept mapping
£ B. Semantic mapping
5 C. Abstract
#< D. Formulaes

Question ID : 75322914732

Section : Discipline4

Q.1 As ateacher how to build healthy habits in children affecting them emotionally and socially?
Ans X A. By always talking about mental illness, pointing out children affected by it.

«” B. By teaching the importance of positive self-esteem, effective communication,and
writing their thoughts in journal.

/< C. By openly addressing about the personal problem of the child.

< D. By dividing children on the basis of their mental health.

Question ID : 75322914752

Q.2 The resource material developed by NCERT as a form of teachers guide on Health and
physical education for the upper primary stage doesn't ___

Ans X A.focus on a holistic understanding of health, physical education, yoga, fitness activity

including the impact of the environment on health.

/< B. contain experiential learning activities for acquiring skills for healthy living have been
integrated.

#< C. instill desire among students to participate in games, sports, yoga as an integral part
of their daily lives.

& D. give least insight to teachers.as to how to encourage students and make learning an
enjoyable process.

Question ID : 75322914746

Q.3 Rituraj who is in class 10th has some anger issues, he is often found to be engaged in an
oral and physical argument with his peers, how would a teacher cope with it?

Ans X A. By punishing him in front of the whole school.

«” B. By making him aware of his emotions and feelings. Try to gain insight into how and
why does he feel so.

#< C. Giving him to write 1000 times not to repeat his mistake.

£ D. Asking his peers not to talk to him and leave him alone.

Question ID : 75322914750
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Q.4 What option can be less considerable regarding role play?
Ans " A it gives opportunity to only those students who are better in acting and expressive.
/< B. help them become better thinkers, storytellers in the future and develops confidence
in them to engage in healthy interactions.
< C. it enables students to learn the mentality of characters based on which they make
critical judgments.
#< D. helps students to immerse in the scene and to understand its essence.
Question ID : 75322914745
Q.5 The five types of yama(restraint)are____ ,brahmacharya(celibacy) , asteya(non-stealing) ,
apagriha(non-possessiveness) , satya(truth)
Ans & A. Ahimsa(non-violence)
/< B. Niyama(observance)
& C. Asana(position)
25 D. Niyama(rules)
Question ID : 75322914749
Q.6 N.C.F. recommendation of EVS exclude,
Ans  # A. developing proudness among children regarding their race, caste, religion, etc.
#5 B. to develop an understanding based on observation and illustration drawn from live
experiences.
#5 C. to nurture the curiosity and creativity of the child.
#< D. to train children to locate and comprehend relationships between the natural, social
and cultural environment.
Question ID : 75322914735
Q.7 ____is created when a shape is repeated over and over again covering a plane without any
gaps or overlaps.
Ans X A. Circle
25 B. Asymmetric
#< C. Sata handling
& D. Tessellation
Question ID : 75322914734
Q.8 The objective to teach social sciences are to develop among the learner analytical and
conceptual skill to enable him/her -
Ans X A understand roles and responsibilities of the state for the absence of constitutional
oblogations.
«” B. critically examine social and economic issues and challenges like poverty ,child
labour ,etc

5 C. lessen the rights of local communities in relation to thier environment.

#< D. to develop an understanding about the earth as the habitat of and other life.

Question ID : 75322914742
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Q.9 Due to less participation in physical activities, children are leading inactive life, as a teacher
you would refrain from . Choose the less effective option.

Ans X A. promoting healthy competition among students during the playing activity.
«” B. taking them to the gaming zone and let the children play their own.
#5 C. organizing camp.

/< D. organizing the class and explain to students the importance of recreational and
outdoor activities

Question ID : 75322914748

Q.10 To enable children to appreciate India's rich culture the option that would be less effective.
Ans X A.toinspire the pupils reading about their cultural heritage and freedom struggle.
«” B. not holding a discussion over contemporary social & individual problems as it would
be too sensitive to discuss.
/< C.to give a sense of belonging.

/2% D. developing the sense of patriotism by organizing seminars on defense where army
officials would be invited.

Question ID : 75322914740

Q.11 Jwala lives in a small hamlet in Sahyadri hills, where she helps her parents in their seasonal
work of rice and tuar farming, maintaining intimate links with environment, as a bio teacher-

Ans X A. she will ask her not to bring her personal experience in class rather focus on bookish
language only.

#5 B. she will convince her that she should stay home and help her parents.
#< C. she will convince her that school science is about some abstract world coded in long
text and difficult language.

& D. she will help Jwala translate her rich understanding of nature intoformal.concepts of
biology.

Question ID : 75322914738

Q.12 How does arts motivate student ?
Ans X A.increases the dropout rate of students of arts than those who don't participate.

/< B. making the difference less comprehendible between education and experience.
/< C. distract students from the academics.

«” D. developing skills like resilience, grit, and a growth mindset to help them master their
craft, do well academically, and succeed:in later life.

Question ID : 75322914744

Q.13 Given are objectives of art and drama in education, identify the wrong one-
Ans  « A. being over-competitive in academics by asserting the superiority of belonging to art
in society.

2% B. understanding the role of arts in history and the multiple cultures that constitute
Indian civilization.

< C. learning the language of arts to express ideas and emotions in words, images, sound,
and movement.

< D. acquiring the sequential skills and thinking process to create a personal vision
through the arts.

Question ID : 75322914743
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Q.14 According to Van Hiele's theory which geometric thinking can assess the analysis of
deductive systems?

Ans o A Rigor

#< B. Comprehending
#5 C. Analysis

#< D. Deduction

Question ID : 75322914733

Q.15 Team games can make a substantial contribution to the objectives of physical education as
a teacher you would refrain from
Ans X A.develop the qualities of followership, leadership, team spirit, and cooperation.

/< B. identify and nurture the talent of the student in games, sports, etc.
& C.understand and acquire various fundamental techniques of games.

«” D. develop competitive tendencies among students.

Question ID : 75322914747

Q.16 Choose the correct option that comes in the sub-theme category of environmental study?
Ans X A the child's understanding of her world beginning from the 'self' to include her family,
the neighbour, friends.

#5 B. food' with cooking, eating, in the family.

«” C. Plants and animals

#< D. Travel

Question ID : 75322914737

Q.17 In E.V.S before starting the theme water what will be the most efficient way to introduce it.
Ans & A. organizing a trip to factory ,pond and near water dam.

< B. showing picture books only.
5 C. Asking them to consume less water by not wasting it.

#< D. Criticizing the water related hazards.

Question ID : 75322914736

Q.18 Given are the aspect of healthy mentality except .
Ans X A. positive self-esteem.

/< B. effective communication.
< C. regular exercise and adequate amount of sleep.

" D. emotional hyperactive.

Question ID : 75322914751

Q.19 Important teaching skills in social science are except
Ans X A. fluency in questioning.
& B. brainstorming each and every sensitive topic.

< C. writing instructional objectives.

< D. stimulus variation.

Question ID : 75322914741
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Q.20 In E.V.S class of Tamil Nadu , what will be the less effective way to introduce to the habitat
of Rajasthan-
Ans X A.making a comparison between the life there and around them in their local
community.
«” B. organizing a lecture on Rajasthan.

#5 C. planning a trip to Rajasthan.

#5< D. The description must be rich & detailed so that they can get a feel of the natural world
there.

Question ID : 75322914739

Section : Discipline5

Q.1 health committee was set up to assess the health condition of India.

Ans " A.Bhore committee 1943

#5 B. Yashpal committee 2009
#< C. Kothari commission 1964

< D. Mudaliar committee

Question ID : 75322914762

Q.2 Factor that is less important in mood swings among adolescence is
Ans o A academics.

#5 B. distance from family and forming new relationships.

#5 C. conflict with family members.

25 D. sibling rivalry.

Question ID : 75322914754

Q.3 Given are the guiding principles of school Health Instruction except
Ans o A. school should be the place for health centre where the only focus will be on sports,
practical learning, yoga.
< B. throughout school life, health promotion should be one of the objectives of the whole
school program.
#< C.instruction must be based on the child's interests, needs, abilities, and backgrounds.

25 D. emphasis on the positive side of health and not on the negative aspects.

Question ID : 75322914757

Q.4 The health program objectives should reflect 4 major themes except

Ans  # A. competitive tendency among individuals.
#5 B. healthy communities and environments
< C. movement concept and motor skills.

< D. personal health, physical and psycho-social development.

Question ID : 75322914761

Q.5 As ateacher/educator below are the ways to challenge oneself/the teaching except

Ans X A.try blended learning.
#< B. evaluate your teaching.
& C. relying on book methods.
25 D. take risks.

Question ID : 75322914770

@ Teachingninja.in



Q.6 Factors that affect mental health of some children and teenagers except-
Ans X A. parents who separate or divorce.

«” B. academics.
£ C. experiencing severe bullying and sexual abuse.

#5 D. experiencing discrimination.

Question ID : 75322914756

Q.7 Which committee has conceived work education as purposive and meaningful manual work
that results in goods or services which are useful to society?

Ans X A. Kothari commission
«” B. National policy on education
#5 C. National curriculum framework 2005

#< D. Bhore committee

Question ID : 75322914766

Q.8 The working competency helps pupils for the development of which develops a deeper
concern for the environment and a sense of belonging, responsibility, and commitment to
the society.

Ans X A. psychomotor domain
/< B. cognitive domain
/< C.schema

o D. affective domain

Question ID : 75322914767

Q.9 Role of SMC is to ensure participation of minorities in school except____

Ans X A.to challenge the stereotype and misconceptions related to castes, tribes, and
minorities in school.

& B. using terms like a good family, good houses,linked to economic status of children.
#< C. the classroom interaction at the primary-level should necessarily be in the local
language.

/< D. enrolment and attendance of all the children, especially children belonging to
disadvantaged groups and weaker sections in school.

Question ID : 75322914772

Q.10 Work education has come to be an important link between__&____as an important
instrument for the preparation of a child as a self-supporting & productive citizen.

Ans X A health and education
£ B. productivity and knowledge
#< C. education and knowledge

& D. education and productivity

Question ID : 75322914764

Q.11 The advancements have made the knowledge upgrade among the teacher community a
must and need.

Ans X A gender
/< B. psychological
& C. technological
< D. physical

Question ID : 75322914768
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Q.12 Given are the adolescent behavioural disorders except
Ans X A eating disorders

#< B. ADHD
«” C.insomnia

#5 D. Risk taking behaviour

Question ID : 75322914755

Q.13 Physical activity enhances ____ performance by enabling children to stay alert in class,
boosting their self-esteem and self-perception.

Ans X A. creativity
o B. cognitive
£ C. analytic
#< D. psychomotor

Question ID : 75322914760

Q.14 Methods involving participation & observation in work education except
Ans X A poems

/< B.debates
«” C. posters

#5 D. brainstorming

Question ID : 75322914765

Q.15 Given are the ways to improve online teaching except-
Ans X A. consider new learning approach.

/< B. utilize a variety of technology.
#< C. connect to student individually.

«” D. focusing on traditional approach.

Question ID : 75322914769

Q.16 Given are the characteristics of a psychologically healthy person except-
Ans & A theindividual is always anall-rounder and has a strong competitive tendency.

/< B. the individual takes initiative to do things and complete the assignment.

< C. such an individual is independent in thoughts and actions, based on one's personal
values.

2 D. the individual is capable of getting along with people and form healthy and close
relationships with peers.

Question ID : 75322914753

Q.17 "Our work education has got to be revolutionized. The brain must be educated through the
hand. If | were a poet | would write poetry on the possibilities of 5 fingers. Those who do not
brain their hands, who go through the ordinary rut of education, lack MUSIC in their life" is
said by____

Ans X A.Pandita Ramabai
«” B. Mahatma Gandhi
#< C. Rousseau
2 D.C.V.Raman

Question ID : 75322914763
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Q.18 What was the basic perspective behind making midday meals compulsory at the primary
level?

Ans X A.midday meal program was set up so that poor child would come to school and
receive basic education.

£< B. NCF 2005, recommended compulsory primary education to poor children.

&” C. the poor nutritional status of children up to 6years of age that continues into
adolescence as well caused 55% of adolescents in India anemic, the highest in the world.

25 D. cases of child labour were on the peak so to tackle with the program was set up.

Question ID : 75322914758

Q.19 RTE Act 2005 has given the right to SMC to improve elementary education in the country
except-

Ans X A. arranging and maintaining basic infrastructural amenities.
#< B. preparing school development plan.
&” C. prioritizing normal students.

#5 D. bringing out of school children to the school.

Question ID : 75322914771

Q.20 According to WHO: a health promoting school is not one of the following-

Ans X A.engage health and education officials, teachers, students, parents in efforts to
promote health.

/< B. fosters health and learning with all the measures at its disposal.

< C. strives to provide a healthy environment, school health service along with community
projects, food supply programs, and mental health promotion.

& D. is good at promoting fitness only rather than academics.

Question ID : 75322914759
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